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For if he was the slave of a 377> he disqualifies him from 77290

OVERVIEW

7°Xn " explained that it is a 277 for an 72V to be freed for if his master was a 172, for
he can no longer eat 7m17n. This 21 applies only by an 332 72y, however n"
maintain that it is a 217 for every 72¥ to be freed. mdoIn explains why n"9 chose
this 217 and not a more universal 277 which applies to all 2°72v.

MooIN asks:
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And if you will say; it would have been better for n"7 to mention a different 217;
namely, since he is now forbidden to be with a nanew, for this 217 is applicable
even by an 72y of a »8™> (not only by an 1715 72v)!

n90IN answers:
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And one can say; that »n"2 could not mention the 211 of nnow, for he was
responding to the words of the 1127 who maintain on the contrary (that leaving

the W 1s no 217), for his freedom permits him to be with a 1997 N2 (a Jewish
woman).

SUMMARY
The 2117 of AMOW MO°X is offset by the 70771 of a 111 N2 (according to the 1127).

THINKING IT OVER
1. According to n" is it a 2117 for an 787w 72Y to be freed? Why?

2. Why did not m»01n answer that the reason of 721707 12 1701 has an advantage
over MHWA 10, because it applies to an v 72v and Anow of a 175?°

' An w1 1w is permitted to live with a n*1w1> anow [but not with a (3101 n2) XW° N3], however a PN 12 is
forbidden to live with a n°1y1> Anow.

2 The X3 mentions this 21 (that he is N°1v15 nndW2a MOR) at the end of this X°A10.

? The 1321 would however seemingly agree that the loss of 770 is a 217 (albeit only by an 372 72v).

* See "nx # 98-99.
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